MODEL SOLVED PA..HI : GENERAL INSURANCE CORPORATION AAD EXAM

Keshav is locking for & car
which is average represen-
tation of C segment.

. Heshav's budget is around
Rs. 5.50.000

Directions (7T8-80) : Reler to

the following Lable. Given below are
the win loss histories of four Lennis
players in three set maiches and

number of matches played.

P R 3

Won2-0 |23 | 18 | 10 | I8

(Won2-1 |13 | 1B | 13 | 14

Loat 0-2 k 16 | 13

Lost 1-2 a8 || 17

78.

. As

Il & win carmes an award af
Fes. 1500 and a loss of Ra. 1000
which is the largest difference
in prize money carned among
the four 7

(1) Rs. 7000

[2) Ra. 14000

[3) Res. 5000

[4) Ra. S000

As in the case above, what s
the kreeat average prize mon-
w;mwmuhwwm-
er

(1 Ma 1035 (2) Rs. 1300
ua:@nuu [4) Rs. 1150
the case above, what is
Uhe highest average prize mon-
€y won per match by any play-
er? c
{1) Ra. 1495 (2) Rs. 1380
(3 Ra. 1480  (4) Rs. 1410

« ‘The universal reciptent blood

WDH:

(o {2)AB

A 1]

Which one of the Tollowing is
mol & I'iLbﬁul.‘l"pﬂwn'?

{1} China (2)UsAa
[3)Japan 4) UK

. Speed of sound is madmum

in:

1) Waler [2) Adr

13) Steel [4) Vacunarn
Which acid 15 used in lead stor-
age balleries 7

(1) Mitric acid

12) Sulphuric acid

13) Hydrechloric acid

[4) Mone of these

85. Why do fighter planes fiy al
ghis?

greal hei

(1) to escape from birds

(2] to cross the sound barrier

[3) to overcome gravitational
Force

(4] Lo escape delection by ra-
dar

Drialyats is used Lo perform the
function of:
(1) Lungs:
[3) Liver

[2) Heart
(4) Kidncys

. Wha among the lollowing was

the Chairman of the Conasii-
tution Drafing Commditee?
1) Dv. Ambediar

(2) Dr. Rajendra Prasad

{3) Sardar Patel

{4) Motilal Nehru

. Who among the following de-

cides the cancellation of the
election of & person to Parlia-
menl?

(1] Election Cormmmdssion

(2] Supreme Courl

(3] The Parliarmenl

(4] None of these

. Indian Constitution calls In-

dia a:

[1) Unitary State

[2) Federal State

[3) Quasi Stale

[4) Untan of Stales
The gas used in Soda Water is:
11) Oxygen

(2) Armumania

13) Carton Dioside

[{4) Sulphur Dsoxide

. Who is the current Nawab of

Pataudi?

(1) Mansoor Al Khan
(2) Saidfl Ali Khan

(3) Aarnir Khan

[4) Salman Khan

. During the debate in parlin:

menl over Lokpal Bill, who
saluted Anna Hazare for rais:
ing the issue of Cormuplion?
(1) Mr. Pranab Mukherjce

{2) Mr. Manmohan Singh

{3) Mr. Lal Krishna Adwvani

{4) Smil. Sushma Swaraj
Which Indian CEQ of Mclin-
sey who was settled in USA

was criminally charged with
Insider Trading in Svock Mar
ket? :

(1) Rajat Gupla

(21 Vikrarh Pandit

(3] Rajtv Goel

(4] Rsonry Hhan

. Who married Prince William

[1) Kate Middleton

[2) Rosde Pose

[ Jecca Cralg

[4) Oivia. Humt

Wha s the highest wicket taker
in the recently concluded In-

dix-England ODI 2011 series -

from Indian side?

(1) R Ashowin

(2) Ravindra Jadeja

{3) Vinay Kumar

{4) Suresh Raina

In the recently concluded In.
dia-England 0D1 2011 Series,
Uhere was one player whom the
English bowlers could not get
oul even once, Who was he?
(1) Gautarn Gamibhir

2] Suresh Raina

3] M.5. Dhond

(4] R. Ashwin

. Budha International Circuil is

related with which sport?
(1) Crickel (2} Feotball
[3) F1 Car Racec

[4) Tennia

Which is the highest budgeted
movie in Bollywood as claimed

recently?

(1) Rack Star  ([2) RA. Onie
(3) Slumdog Millionaire
{4) Mawsarm

. Which flm won the best film

award in the recently condled-

cd Tibet Film Festival at
T

(1) Mother

(2) The Sun Beaten Path

[3) Prayers Answered

(4) Leaving Fear Behind

. Who is elected as the Interim

Prime Mindater of Libya®
(1) Al Tarhouwni

* (2} Mahmoud Jibril

(3) Abdel Rahim Al-Hib
(#4) Saf-Al-1slam Gaddafl
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PROFESSIONAL
KNOWLEDGE

lm.rw markeling can be done

(1) Readymade garments
(2) Ballpoint pens
[3) iamond jewellery
4] Golll Chubss
102, Word-ol-mouth marketing is:
(1] Triggered by the company
[2) Unpasd advertising
(3) Used by the company 1o in-
behaviour
[4) None of these
103, CRM is & short form oft
(I} Customer Relationship
1]
12) Company Resource Mar-

{3 Consumer Reaching Mar-
keting

{4) Customer Relationship

104, Five stage model of the con-

sumer buying process does not
inchsde:

(1) Problem recognition
2] Peat-purchase behaviour
(3] Evaluation of alternalives
(4] Produet perception
108. Segmentation of consumer
markets is based on
(1) Consumer characieristics
[2) Consumer reaponscs
[3) Consumer challenges
[4) Both (1] and (2)
108. The stages of the preduct life
cycle in chronological order 1a:
(1) Intredhaction, growth, ma-
turity, decline
{2) Intreduction, growth, ma-
turity, stagnation, decline
13) Intreduction, maturity, de-
cline

4] Introduction, maturily.
slagnation, decling
107. The key Lo competilive advan-
e dierentiation.

108, ___ consists of a few compa-
nibes producing eascntially the
sarne commodity.

(1] Monopolistic competilion
(2] Pure competition

(3 Olgopoly

[4] Pure monopaly

10@. Which of the following Is not
a “market follower™ straledy?
[1) Counterfeiter
[2) Adapter
[3) Initiater
[4) Cloner
e 13 FEISLETING, CradTick-
Ing In. or using a domain name
with bad faith intent to profit
from the goodwill of a trade-
mark belonging to someone
e,

(1) Ermail marketing
[2) Cyber squatting
(3) Web scraping
{4) Web spidering

111. The follewing is the biggest lim-
itation of advertising :

(1) It forces consurmer Lo buy
the Lhings he docs not need.

(2] It selis gloas and dreamas Lo
proapective burers.

(3) It tells consumers aboul the
arrival of new products in
market

(4] All of the above
112, The client of an advertising
agency is called :
(1) Customer
[2) Major .
[3) Corporate
[4) Accounit
113. Under the barter scheme
{1} Firms can offer products
and services (o advertising
firma il the latier offer
cheap advertising services.
{2) Firms buy products from

iasue
[4) Mone of these

114.1f the objective is ___ then
prices must be sel very com-
peutively Lo appeal to the larg-
€3l poasible number of poten-
tial consurmers.

(1] Market penetration
2] Niche Marketing
(3] Preduct enhancement
[4) None of these
include medical ape-
clalist and legal advisors,
(1) Speciality services

(2) Safety stock quantity
[3) Reardering policy
[4) Recrdering cyche
i the principle of orga-
nization of a region arcund
several political, social or M-
nancial centres.
1] Ethnocentrism
12) Polycentrism
1) Marketing expansion
{4) Gobal marketing
118, Material culture is divided into
two parts :
(1) Language, Aesthetics
(2) Technology. Economics
(3] Education Religion
[4) Attitudes, Values
118. Identify the group name, whose
mdaxion stalement i -
“To become a major player in

(4} Kotak Mahindra

130. ____ is the latest-buzrword
in corporate boardrooms. - ¢
(1) Service quality
{2) Service sector
13) Service industry
{4) Al of the above

121. Relatively lasge, low-cost. low-
margin high-velume. sell-ser-
vice operations efc.
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(1) Super market
(2] Discount store
(3] Department store
[4) Convenlence store
13, Dastribution mix refers Lo
(1) Selection of different distri-
" bution channeis lke Distri-
bution - Wholesaler - Re-
tailers - Consurmer ele.
(2) Selection of sales promo-
uvan techniques, Advertis-
sonal selling ete.
[3) Selection of pre-sales dur-
Ing sales after sales service
elc.
(41 All of the above
123, Products under the brand name
"Enficld” are:
1] Motor Cycles
2] Television
3] Gensets
(4] All of the above .
124. N u S/P [ 1 + T) indicates the:
1) Work load method
(2] Sales potential method
(3] Incremental pethod
(4] Sales budget
128, “Dividend Yickd™ is the ratio be-
tween
(1) Dividend per share, markei
price per share
(2) Total debt. total equity -
(3 Market price per share,
carmnings per share
4] None of these
138, A bank expects fall in price of
a security if it sells it in the
markel. What is the risk that
the bank is Mcing?
(1) Market risk
[2) Operational risk
[3) Asset Liquidation riak
[4) Market Hguidity risk

{3) Hortzontal inlegration
(4) Backowurd inlegration

128. Charles Revson of Revion ob-
served: “In the factory, we
make cosmelica; in the store,

(1) we make profits
[2) we challenge competitors
(3] we implement ads
(4] we sell hope

128, Mohan Sawhney has proposed
the concept of to de-
scribe a cluster of complemen:-
tary products and services that
are closely related in Lhe minds
of consumers but are spread
across a diverse set of indus-
tries.
(1) metamarket .
(2) vertical inlcgration
(3) horizontal integration
(4) Betarmarket

130. A tobacco company sdvertises
it linve of music eds. [Lis a type
oft

(1) Substitute advertising
(2) Surrogate advertising
13) Out-door advertising
(4] None of these

131.You walch a movie and find
out that a particular brand
crops up in 1L very often. It is

all

(1) Pictoral representation of
whal the company stands
for

{2) Graphic or emblem used by
a company o trigger in-
stant recall

[3) The short form of the name
of the company

[4) All kinds of advertisements
used by the company

133, Dilfusion of Innovations is a
theory ‘that secks lo explain
how, why, and at what rate
new ideas and ttﬂhlllﬂ#ﬂ'
spread through cultures, The
adopiera of these innovations
are categorised in five calego-
ries. Which of the following is

Inoormect 7

(1) Early adopters

(2] Early majority

(3] Late adopters

[4) Late majority

134. Dalabase marketing is:

(1) Direet form of marketing .

(2] Indirect form of marketing

(3] Most efficient form of ad-
wertising

4] Kene of these

138, Segmentalion is:

(1] A micthod Lo divide the mar-
ket in Lo different groups
according Lo age only

12) A methed to understand
consumer behaviour

3] A method used to divide the
market in different individ-
ual groups of similar needs
OF wanls

(4] None of these

136. BZB mecans:

(1) Buyer to brand

2] Busincas 1o busincss

(3] Busineas (o buyer

(4] None of these

137.Who started the first Hyper-
markel?

1] Walmart

2] Carrefour

3] Casing

(4] The dolla store

138. The Nirst step of sales process

[EH

(1] Lead generation

(2] Convincing the buyer

(3] Selling the product

(4) Showring a product

138. Core competence of a compa:
ny helps it to:

(1) Mainlain an edge over ils
competilors

(2] Pesdtion its product betler

[3) Price ita product better
[4) All of these
are:

[1) Individuals who do not ac-
cepl an innovation

[2) Indrviduals who are the Last
o accept an innovation

[2) Individuals secking mnova-
tions

[4) Nome of these
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L4 1. Consurmer rescarch lakes place
at this stage.
(1] Before purchase
[Z) After purchase
[3) During the purchase
[4) Al of these

lﬂ SWOT analysis does nol con-
tain this,
(1) Strength
[2) Weakness
(3] Opportunity
[4] Talent

143.This is not direct marketing:
(1] Door Lo door selling
(2} Internet marketing
[3) Telemarketing
(4] Mone of these

La4. Trademark is the begal word of:
(1] Brand [2) Product
[3) Patent
(4] Rane of these

145, Which of the following ia nol
an sdvantage of world market-
ng?
(1) Consistency im brand image
(2] Ability Lo leverage good

heas quickly and efMicient-

by
(3] Uniformity of marketing

praciices
(4] None of these

148. The four Ps of Marketing do not
include Lhis

[1) Produsct [Z) Price

[3) Profit [4) Promction
L4T. Porter's Five Force Model in-

chades :

(1) Bargaining power of cus-
tomer

[2) Advertising
[3) Threat of substitute prod-

s,
[4) Bargaining power of suppdi-
(=g ]

148.The Letter T in PEST stands
For:
(1) Treats
[2) Technological
[3) Teacher
(4) Table

140, Brad Loyalty is defined by Kot-
ler in for behaviour pattern.
Which of the following is not
one of them.

[1) Hard Core Loyals
[2) Shifters
[3] Sermd Loyals
(4] Shiling Loyals
150. Marketing does nol involve
which of the following?
(1) Selling
(2] Promating
[3) Advertising
[4] None of these

ANSWERS

308 m

£

a.Lx T

EXPLANATIONS

8. [3] The word' Deganss [Verb)
means : to decrease of climi-
male on unwaniod magneli
Neld,

7-[1)The word Culvert (Noun)
means : & tunnel that carmies
& river or a pipe lor waler un-
der a road.

B. [2) The word Plumcse (Adjec-
thre) meana : like a fealher.
@ [3) The word Marssd (Verk)
means :lo go arcund & place
in search of things o sieal of

1003 | 1L

1403 | 1803

183

EISIEE]

T

28.14]

El

30.04) | 300

fa ]

ple lo attack,

10. [3) The word Haleyen (Adjec-
tive) means peaceful and

happy.

11. (1} The word Shard (Mous)
means @ a picoe of broken
flass, metal ete.

12. (2] The word Canldron (Noaa)

A2.04)

48.07

0.5

elelele

B4

E

BA.14]

68.02 | sa4

BIEEE

B8Rl | ToUm

TAM | .

2

TN

5

BLLI) | B304

B804 | B84

B8 | 9003

2301

7.0 | eamm

10009 | 102.0H

- 108.4) | 108.02

10803 | 11003 | 110.00)

113.62) | 10400) | 10804

IL7.00) | LRALX) | 1a@0)

LZR.00) | 133.00) | L3RN)

130.01) | 13844 | 13704

138.00) | 1303 | 13003

I33.0H | A341) | 138N

137.02 | 138011 | 1380

LALTH) | 182.040 | La[4)

148.04) | 18003 | 147.03)

L4803 | 180.4)

:a large deep pot for
boiking liguids or cocking food
over a fire.

14. [2) The word Stagger [Verb]
means :to walk with weak
unsicady steps as if you are
aboul to fall: Lotter,

19. [3 The word Pamt (Verb)
means : to breathe quickly
with short breaths, usually
with your mouth open.

20. [2) The word Agony (Noun)
mesns : extreme physical o
mental pain.

21. (1] Ratio of profit
ax® 12:2xuB:3xxd

HEQ}II'tmuhen'b;rﬂbeﬂz
days, then tirme taken by Anx
days.
2l el

2%

2s) L o3,1
2.!: 'H--A' T
mxednT =2] days

3. [4) 1N the number of boys = x
then number of girls = 80 - x
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